“Basblen 5

The following information is available in respect of a flrm
Capitalisation rate (K,) = 0-10

- Earnings per share (E) =X10 |
Assumed rate of return on investments (7) : (1) 15%, (ii) 10% and (iif) 8%

Show the effect of dividend policy on the market price of shares, , USing Wajer
Dividend Pay-out ratio (D/P Ratio) : 0%, 25%, 50%, 75% and 100%. s

Also state the optimum dividend pay-out ratio.

@ Solunon

According to Walter’s Model, market price of a share, P is given bv




Where/
p = Dividend per share

r = Rate of return on investme
~ K, = Capitalisation rate, "
E = Earnings per share,
situation 1
When T= 15% or 0-15 and K = 0.19
(1> K,= Growth Firm) e

value of Shares (Walter's Model) at different D/PR
atio :

//—l_ll/P ratio = W /
i e., Dividend per S _ D/P ratio = 25%
‘ o.i—, hare = zero) (i.e., Dividend per Share =3 2-50)
0+——(%10-0 ‘
p= —010 : 2250+ 22 (710-32-50)
0-10 . P= 0-10
=3 150 ‘ 0-10
— =3 137-50

— |D/P ratio = 50% B D/P ratio = 7
e, Dividend _ e
(i.e., Dividend per Share =% 5) (i.e., Dividend per Share = 2 7:50)
0-15 - |
L 15+671-6(?10—?5) 27.5o+%'11%(?10—?7~50)
‘ 0-10 b= ~010
=125 =3 112:50
1 M

D/P ratio = 100%
(i.e., Dividend per Share =%10)

0-15
710+——(310-%
10+0.10( 0-310)
0-10

pP=
=3 100

is inversely related to the
This is so, because the
ts (r) exceeding the

) Interpretation :
From the above calculation, it is
D/P ratio. As the pay-out ratio in

he value of shares (P)
et value of shares declines.
m a return on investmen

quite clear that t
creases, the mark

firm is a growth firm (where 7 > K) and is able to ea
required rate of return (K,). The market value of shares (% 150) is highest when D/P ratio is zero, 1.€.
When all earnings are distributed, i.e. D/P ratio is 100%, then its

the firm retains its entire earnings.
market value shows the lowest price € 100).
.t wabin 18 ZECTO.
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situation 2

Vhen I~ 10% or 010 and K, = 0-10 \ y
Whe , rm K, = Normal firm). {‘
N t h m'rs (Walter's Model) at different D/P Ratio -
Value of shar ‘
/l)/l‘mh’u (% ]
(Dividend per Share = zero)
0+ 0 m(?l()—())
= 010
- 0-10
=100 /

(1e., Dividend per Share =¥ 5)

?.5+—()41‘Q('\'10‘z5)
pe 010 =
- 0-10
=2 100

er—

[D/P ratio = IOO%J
(Dividend per Share = T 10)

0-10
——(T10-%10
”0+o-w( )

P= —
0-10

=< 100

) Interpretation :

Inder this situation, when r = K, , the market value of shares is const' e '
' is a matter of indifference whether the firm retains whole of the praonétgresp.ecﬁye Of they
ere is no optimum dividend policy. But this is a hypothetic or distrip !

al situatiop, - ute gy
me. Moreover, Walter concludes that dividend policy does 1 N;randg %
ces. policy matteras g variable in me Cany,

. ax%
fuation 3 :
When r=8% or 0-08 and K, = 0-10
(ie., 7 < K, = Declining Firm) |
Value' of shares (Walter’s Model) at different D/P Ratio :
| D/P ratio = 0% v
(Dividend per Share = ]zero) o raho%

008 (Dividend per Share =% 250)
0+—=(310-0) 0-08

= 010 $2:50+— .
0" - 070 310-22:50)

=780 \] B 010
N L =385
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(i.e., Dividend per Share = 7 5)

. S S ot

D/P ratio = 5074\\ :

D/P ratio = 75%| |

(Dividend per Share =X 7-50)

z7. 50+%—0§—(?1o—?7 50)

_ 008
P ¥5+%10
| 0-10
~3 90
] _==P

0-10

r"i. D/P ratio = 1009

(Dividend per Share = ?—10)

0-08
. 210+ (310-310)

0-10

=3 100

» Interpretation :

When the firm is a declining firm, where r < K

=3 95

positively. That is, when pay-out e D/P ratio and the value of share are correlated
‘ pay-out ratio increases, the market value of shares also increases and vice

':lsaauo?i r‘narj;et V;llue of share is maximum R 100) when D/P ratio is 100%. So, under this
s advisable to distribute the entire earnings as dividend to the shareholders.

erefore, the optﬁlum D/P Ratio is 100%.



matjop jg Supplied to you, about LK Ltd. :

4 15,00,000

Dividengg paide “Ompany ¥ 5,00,000

Number of jsuseq Shares 100,000
Price €amings rae;, 10
Rate of return op Investment (%)

(/) Dete

Solution

(‘alculanon of theoretical Market Price :
Earnings per share (T 15,00.000 . 1,00,000)

1S
Dividend per share (T 5,00.000 . 1,00,000) L)
K = (1 + PE) = (] + 10) 0.10
Rate of Return (r) 0.15
S 01§
E- D) “(15 )
P = ..l_). * k( — — _3“'_‘~ + “ l“( - r 2")
o £ ke T000 010
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. <he rale of return _Of the firm is 15% and Equity Capitalization Rate is only 10%, the company
. ollowing an optional dividend policy. The company should not pay any dividend. In such
. the market price of the share would be :

r
156 U2=0)
. _D _ ke _ 0 . 010

S ke 010 010

=3 225
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